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General Instructions :

s
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 55/ AS/3-A on the Answer-Book.

(@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS
( redyTER )

(214)
Time : 3 Hours | [ Maximum Marks : 100
HHg : 3 90 ] [ gui® : 100
Note : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D) and
out of which one is the most appropriate. Select the correct answer and write it
in your answer-book against the number of question.

fewr: (1) |t v srfrErd ¥
(2) UHF YEH % 3 3Tk QHA 9T MY ¥
(3) TR Y wWH 19 8 TF, YAF Y H 9N A%feud IW (A), (B), (O)
3R (D) few 7 ¥ 5w & uw 9t = weifues sfeq &1 9@ 3w 9 qen s Sw-
qfre § 39 g¥ IS & anH fafag |

1.  Which of the following is studied in microeconomics ? 1
(A) Economic Growth
(B) Inflation
(C) Employment
(D) Behaviour of an individual decision making unit
Frefafaa 9 | frae sreaga safie sidore | e s €2
(A) s HafE
(B) HgTewIfd
(C) TR

(D) =AfaTd Fofa F33 el 3HE F1 FTER
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2. Which factor of production is a free gift of nature ? 1

(A) Entrepreneurship (B) Land
(C) Capital (D) Labour
=7 ¥ B T FREF Pl b1 Y SR &2
(A) ST () =
(C) st (D) 4
3. Which out of the following is an indicator of rising standard of living of people ? 1
(A) Increase in capital formation (B) Increase in consumption
(C) Increase in production (D) None of the above
frefafaa § § S W A % wed §U SoT W H YIF 8 7
(A) gt feo H gfg (B) 394m # Ffg
(C) e ¥ 3fe (D) v & & TE
4.  Which out of the following can take a negative value ? 1
(A) Total Product (B) Average Product
(C) Marginal Product (D) Marginal Cost
frerfefia & frae 9o FoTe & 9l © 7
(A) Fd IUEQ (B) 3iwa IW
(C) HHr IS (D) = AT
5.  Which of the following is equal/same as price ? 1
(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) Average Product

frefafad § # 91 H1Hd & 906 / GUH g ¢ ?
(A) Fa ATH (B) ¥rEd AH
(C) ¥ ™ (D) irga 3=
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In a situation of ‘excess demand’ in the market for the given good :
(A) Quantity demanded is greater than quantity supplied
(B) Quantity supplied is greater than quantity demanded
(C) Quantity demanded =Quantity supplied

(D) None of the above

& 7T a%g 1 SR H e i feafa ¥
(A) =it 7 T afd i wE wmn A sifies @t ®
(B)  =gfd =T 7T TN HiTh 7 A0 A 3t Bt ®
(C) w7 WE = 3Argfd g A

(D) 7w § = T

Which is a precaution of arithmetic mean ?
(A) It should be a representative value
(B) It should facilitate comparisons

(C) It cannot be qualitative data

(D) 1t should facilitate future policy

T ¥ T IS I EEE S @ R ?
(A) T U yfaffy ge g =ifed

(B) & T I W oA el o =il
(C) A oI RS T & TR

(D) 7 et Hifd 1 GrH s+ aren g e
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8.  We can contribute to sustainable development by : 1
(A) Reducing consumption
(B) Recycling
(C) Finding substitute for non-renewable resources
(D) All of the above
T T g MR faer # e 2 W €

(A) U FH Fh

(B) YA

(C) TR-Tdishoia HaTeHl & T §eH
(D) o wft

9. In your daily consumption, you use many free goods. Explain them with the help of 2
suitable examples.

39 S Sitem ¥ o9 o Yo oRgell o SUER G €1 SUgEd SAEl gl S
AT I |

10. Describe ‘Reduction in inequalities of income and wealth” as a feature of a socialist 2
economy.

qaTaTe! steferawe #i U fasiva % ®9 § 31 3R weafh =t fommaed § s’ 6 guensd |

11. If 50 units of output are produced, the Total Fixed Cost is T 300 and the Total Variable =~ 2
Cost is T 700. Calculate the Average Cost.

Ife 50 Tl 1 Iere foran san & & ot feer @ 300 © 99 e itardt @rma < 700 §
a1 T FifS |

12. Distinguish between labour-intensive technology and capital-intensive technology of 2
production.

ICAEA i FH e qehe1shl a1 Yt e Tehriiehl § 9 hifed |
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. 13.  Complete the following table : 2

Price of X [Quantity supplied of X| Market
()  |Firm A[Firm B[Firm C| supply

1 2 - 5 10

2 6 10 20

3 6 9 15 -
4 8 12 - 40
Freafafea aroft @t g0 i
X &t 3mgfd &t T 7
X 1 9 TSR
. wH | ®H | wH
(X #) amgfd
A B »

1 2 - 5 10

2 : 6 10 20

3 6 9 15 -

4 8 12 - 40

14. Explain the relationship between price of the commodity and its quantity demanded. 2
& FI FHIAd qAT IHH A TE A H T T AR HIfC |

15. Explain why it is difficult to equate the value of different goods in the barter system of 2
exchange.

g5 fafma yoneht # fafy= segeil & gedil it aued Fen HieT #0827 Twened |

16. What is the difference between primary data and secondary data ? 2
wrafis sTiwe qe fedias st |+ A=W E?

17. What is ‘habitat degradation’ ? Give two causes of habitat degradation. 2
Wi a1 et 2 B € 2 Wi e & freieo & S www i)
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18. Suppose, you purchased a pressure cooker which bursted out when used and inflicted 2
burn injuries on your face. Explain the appropriate consumer right under which you
will file your complaint.

A ST, ST T YR FH T S WA FE W HE T AR 9 el W e 9 afd
TEEE | 3H IUFH IuHIE-AFER H ATEn Hif e swia o et ey oo
HIE |

19. Discuss how economics is being treated as “Science of Sustainable Development”. 4

o= Fifse fo srdvmes =t uroiig foem = o’ 9 %@ s &

20. Explain "No class conflict' as the main characteristics of a socialist economy. 4

TISETET AYTaTT 1 U fauivar & &9 § ‘i wed 5t g’ 5 samen sifaw |

21. Explain the law of diminishing marginal product of labour with the help of a relevant 4
schedule.

T TR =1 ) FEEdl § FH & W 3ag g fem &t smen #ife )

22. Give the important factors which influence the decision of a seller in fixing the price of 4
a commodity.

I WYl w1 ST S foRet axg it wiva i e F0 F faga ¥ folg w gam
Ted ¢ |

23. Define saving. Explain how it is useful. 4

s=q 1 i Sifee | wEEEd R 3 R yeR anens §
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26.
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Given that there is only one bank in the economy which decides to keep CRR as 20%.
Explain stepwise the process of credit creation with the help of an example.

Sefereree § Fad UH A% ¢ T The SIRe UM 20% @A w1 fved ¥
IRV Fi HerAd § -G Hi Wiha il SuEg alis d gHeed |

Distinguish between “direct personal investigation method” and “indirect investigation
method’ of collecting primary data.

WA SHe & e »1 YAy Safgas aquaE fafy’ qon ‘ styeae sreem fafy’ 9
Hifea |

Give any four features of statistics.

Hiferst #1 #1E 9r fagea S

From the data given below find out the arithmetic mean by the step-deviation method.

Class F
10-20 2
20 -30 7
30 - 40 9
40 -50 12
50 - 60 10
60 -70 20

ve fager fafy grn fFrafafaa siws | a9 wre 91 S

b
10-20 | 2
20-30 | 7
30-40 | 9
40-50 | 12
50-60 | 10
60-70 | 20




28. Explain the land revenue system introduced by the British during their rule in India. 4

IRA H IS g1 39 ATEAHE § S0 &t T2 YfH SFIH JOne Ft SATe St |

29. ‘“About half of the Indian population is in the age group of 0 - 25 years’. What willbe 4
the effect of large young people like you upon the economy’s development ?

WA 1 TN S SHESA 0- 2599 F g T H T SUH S T80 w0 B4 G qefeawe
& fosm W . gyE S ?

30. Explain why consumer awareness is essentially required in India. +

U T ST SEhdl 1 Sl Fi & ? AT FHIfu |

31.  Explain the factors responsible for the upward slope of the supply curve of acommodity. 6

ferdlt o % mgfd = &% SR IR o F o SoErh wul F e witvu )

32. Give any four advantages of international trade. 6

IR AR & HIE TR/ a1y G |
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_33. Explain the following schemes of Government of India to provide ‘Education to All" : 6
(a) Sarva Shiksha Abhiyan (SSA)
(b) Saakshar Bharat
‘geft 1 fire Sueey oA’ F ol wRa R i Fefefea deel S e wif
(a) wd fhan A (SSA)

(b) HIER WA

34. Give any four sources of noise pollution and any two harmful effects of noise pollution. 6

a3 YU & HIE IR B a1 FIE & SAERE Ju9E G

-000-

55/AS/3-214-A ] 1

L T







